Int. J. Nonlinear Anal. Appl. 16 (2025) 5, 165–172 ISSN: 2008-6822 (electronic) http://dx.doi.org/10.22075/ijnaa.2023.27002.3472



A new generalization of the l_p spaces

Alireza Moazzen

Department of Mathematics, Kosar University of Bojnord, Bojnord, Iran

(Communicated by Abasalt Bodaghi)

Abstract

In this work, using semidefinite matrices gives a new generalization of the l_p spaces and some inequalities containing lower bounds of some operators are proved. Also, by defining an inner product on the classes of an equivalence relation on operators, some inequalities similar to the well-known inequalities including the Copson, Cesaro, Hilbert and Hardy inequalities are obtained.

Keywords: 2020 MSC: 26D15; 47B37, 15A60

1 Introduction

The Mahalanobis distance is a measure of the distance between a point P and a distribution D, introduced by P. C. Mahalanobis in 1936 [8]. The Mahalanobis distance between two random vectors $x = (x_1, x_2, ..., x_n)$ and $y = (y_1, y_2, ..., y_n)$ of the same distribution with the covariance matrix Q is defined by

$$d(x,y) = \sqrt{(x-y)^t Q^{-1}(x-y)}.$$

The Mahalanobis distance is widely used in cluster analysis and classification techniques. The notion "lower bounds" of matrix operators at first, was introduced by R. Lyons [7] and then intensively studied for l_p spaces and its generalizations, e.g., [2, 3, 6].

If X is a Banach sequences space, we denote by $\delta(X)$ the set of decreasing, non-negative sequences in X. For a positive operator A on X, the lower bound of A is defined as

$$m_X(A) = \inf\{ \|AX\| : x \in \delta(X), \|X\| = 1 \}.$$

Let (w_n) be a decreasing, non-negative sequence, for $p \ge 1$,

$$l_p(w) = \{x = (x_n): \sum_{n=1}^{\infty} w_n |x_n|^p < \infty\}$$

is called weighted sequence space equipped with the norm $||x||_{p,w} = \left(\sum_{n=1}^{\infty} w_n |x_n|^p\right)^{\frac{1}{p}}$. If $\inf_{n \in \mathbb{N}} w(n) > 0$ then $l_p(w) = l_p$ with equivalent norms. So, we are mainly interested in the case when $\inf_{n \in \mathbb{N}} w(n) = 0$. Given a null

*Corresponding author

Email address: ar.moazzen@yahoo.com, ar.moazzen@kub.ac.ir, (Alireza Moazzen)

Received: May 2022 Accepted: June 2023

sequence $x = (x_n)$, let (x_n^*) be the decreasing rearrangement of $|x_n|$. The Lorentz sequence space d(w, p) is the space of null sequences x for which x^* is in $l_p(w)$. Denote by $\delta(w)$ the set of decreasing, non-negative sequences in $l_p(w)$, and define

$$\Delta_{p,w}(A) = \sup\{ \|Ax\|_{p,w} : x \in \delta(w) : \|x\|_{p,w} = 1 \}$$

Jameson and Lashkaripour [5] proved the following Lemma.

Lemma 1.1. Suppose that (w_n) is decreasing, that $aij \ge 0$ for all i, j, and A maps $\delta_p(w)$ into $l_p(w)$. Write $c_{m,j} = \sum_{i=1}^{\infty} a_{i,j}$. Suppose further that for each $i \lim_{j\to\infty} a_{i,j} = 0$ and either for each $i, a_{i,j}$ decreases with j or $a_{i,j}$ decreases with i for each j and $c_{m,j}$ decreases with j for each m. Then $||A(x^*)||_{d(w,p)} \ge ||A(x)||_{d(w,p)}$ for non-negative elements x of d(w, p). Hence $||A||_{d(w,p)} = \Delta_{p,w}(A)$.

In this work, inspired by the Mahalanobis distance, a new norm on sequence spaces is defined. Also some theorems and inequlities are proved.

2 Main Results

Definition 2.1. Let $X = \{x = (x_n)_{n=1}^{\infty}, x_n \in \mathbb{C}\}$ and $Q \in L(X)$, be a matrix, we define

$$||x||_Q = (\overline{x}^t Q x)^{\frac{1}{2}},$$

where $\overline{x} = {\overline{x_n}}_{n=1}^{\infty}$, which \overline{a} is the conjugate of a.

For positive semidefinite matrix Q there are A and $D = diag(\lambda_i)$ such that $Q = A^t D A$ and so

$$\begin{aligned} \|x\|_Q &= (\overline{x}^t A^t D A x)^{\frac{1}{2}} \\ &= \left((A\overline{x})^t D (A x) \right)^{\frac{1}{2}} \\ &= \left(\sum_{i=1}^{\infty} \lambda_i |y_i|^2 \right)^{\frac{1}{2}} \\ &= \|Ax\|_{2,w}, \end{aligned}$$

where, $y_i = \sum_{j=1}^{\infty} a_{i,j} x_j$ and $w_i = \lambda_i$. In this case, $||x||_Q = 0$, iff. x = 0 and

$$\begin{aligned} \|x + y\|_{Q} &= \|A(x + y)\|_{2,w} \\ &\leq \|Ax\|_{2,w} + \|Ay\|_{2,u} \\ &= \|x\|_{Q} + \|y\|_{Q}. \end{aligned}$$

For a lower triangular matrix $Q = [a_{i,j}]$ we have

$$||x||_Q = \left(\sum_{i=1}^{\infty} L_i |x_i|^2\right)^{\frac{1}{2}} = ||x||_{2,w}, \quad (w_i = L_i)$$

where, $L_i = \sum_{j=1}^{\infty} a_{i,j}$ is the summation of the *i*-th row of Q. In special case, if for each *i*, $L_i = 1$ (for example, the Cesaro matrix) we have $||x||_Q = ||x||_2$.

For a positive semidefinite matrix Q, we define

$$l_Q^2 = \{x = (x_n): \|x\|_Q < \infty\}$$

Note that $||x||_Q^2 = x^t Q x = (x^t Q x)^t = x^t Q^t x = ||x||_{Q^t}$ and so we have $l^2(Q) = l^2(Q^t)$. So for a positive semidefinite upper triangular matrix U we have $l^2(U) = l^2(U^t) = l_{2,w}$, $w_i = L_i(U^t) = C_i(U)$ where $L_i(A)$ and $C_i(A)$ respectively are the sum of rows and columns of A.

Definition 2.2. Suppose that $Q = (Q_i)_{i=1}^{\infty}$ is a sequence of positive semidefinite matrices. For $p \ge 1$ take

$$||x||_{p,Q} := \left(\sum_{i=1}^{\infty} ||x||_{Q_i}^p\right)^{\frac{1}{p}}.$$

Note that for each i we have,

$$\|x+y\|_{Q_i}^p \le \|x\|_{Q_i} (\|x+y\|_{Q_i}^{p-1}) + \|y\|_{Q_i} (\|x+y\|_{Q_i}^{p-1})$$

On the other hand,

$$\sum_{i=1}^{\infty} \|x\|_{Q_i} \|x+y\|_{Q_i}^{p-1} \le \left(\sum_{i=1}^{\infty} \|x\|_{Q_i}^p\right)^{\frac{1}{p}} \left(\sum_{i=1}^{\infty} \|x+y\|_{Q_i}^q\right)^{\frac{1}{q}}.$$

And so,

$$\|x+y\|_{p,Q}^{p} \le \|x\|_{p,Q} \|x+y\|_{p,Q}^{\frac{p}{q}} + \|y\|_{p,Q} \|x+y\|_{p,Q}^{\frac{p}{q}}$$

therefore,

$$||x+y||_{p,Q} \le ||x||_{p,Q} + ||y||_{p,Q}.$$

Now, the set

$$l_p(Q) := \{ x = (x_n)_{n=1}^{\infty} : \|x\|_{p,Q} < \infty \}$$

is a norm space. In special case, if Q_i is a matrix which $a_{i,i} = 1$ and zero in otherwise then $l_p(Q) = l_p$. Therefore, the space $l_p(Q)$ is a generalization of the l_p space.

Theorem 2.3. Suppose that $P = (P_i)_{i=1}^{\infty}, Q = (Q_i)_{i=1}^{\infty}$ are two sequences of positive semidefinite matrices satisfying $P_i \leq Q_i$ for each $i \in \mathbb{N}$. Then, for $p \geq 1$, $l_p(P) \subseteq l_p(Q)$.

Proof. For each *i* we have $P_i \leq Q_i$ and so $x^t P_i x \leq x^t Q_i x$ which implies that $||x||_{P_i} \leq ||x||_{Q_i}$. Therefore,

$$\|x\|_{p,P} = \left(\sum_{i=1}^{\infty} \|x\|_{P_i}\right)^{\frac{1}{p}} \le \left(\sum_{i=1}^{\infty} \|x\|_{Q_i}\right)^{\frac{1}{p}} = \|x\|_{p,Q}.$$

So, we have $l_p(P) \subseteq l_p(Q)$. \Box

For a matrix Q, we have Q = L + D + U where L, U respectively are lower and upper triangular and D is diagonal. Suppose all of them are positive semidefinite matrices. We have

$$||x||_Q^2 = x^t Q x = x^t L x + x^t D x + x^t U x = ||x||_l^2 + ||x||_D^2 + ||x||_U^2$$

Suppose that $Q = (Q_i)_{i=1}^{\infty}$ and $Q_i = A_i + D_i + B_i$. Also, all matrices are positive semidefinite and A_i 's, B_i 's respectively are lower and upper triangular. We have

$$\begin{aligned} \|x\|_{p,Q}^{p} &= \sum_{i=1}^{\infty} \|x\|_{Q_{i}}^{p} \\ &= \sum_{i=1}^{\infty} \left(\|x\|_{A_{i}}^{2} + \|x\|_{D_{i}}^{2} + \|x\|_{B_{i}}^{2} \right)^{\frac{p}{2}} \\ &= \sum_{i=1}^{\infty} \left(\sum_{j=1}^{\infty} (L_{i}^{j} + \lambda_{i}^{j} + U_{i}^{j}) |x_{j}|^{2} \right)^{\frac{p}{2}} \\ &= \sum_{i=1}^{\infty} \left(\sum_{j=1}^{\infty} Q_{i} |j| |x_{j}|^{2} \right)^{\frac{p}{2}} \end{aligned}$$

and so,

$$||x||_{p,Q} = \Big(\sum_{i=1}^{\infty} ||x||_{2,w_i}^p\Big)^{\frac{1}{p}}, \quad w_i = (Q_i \rfloor_j)_{j=1}^{\infty}.$$

For a matrix $A \in L(X)$ the symbol $A|_i$ stands for the *i*-th corner of A and is defined by

$$A \rfloor_i = \sum_{j=1}^i a_{i,j} + \sum_{k=1}^{i-1} a_{k,i}.$$

If $A, B \in L(X)$, we define

$$\langle A, B \rangle = \sum_{i=1}^{\infty} A \rfloor_i \overline{B \rfloor_i}.$$
 (2.1)

By taking, $a = (A \rfloor_1, A \rfloor_2, ...)$ and $b = (B \rfloor_1, B \rfloor_2, ...)$, then $\langle A, B \rangle$ is the standard inner product. By defining an equivalence relation on L(X) as following:

 $A \approx B$ if and only if for all $i, A \rfloor_i = B \rfloor_i$,

we may define a norm on the classes of the equivalences relation as $||A||_1 = \sqrt{\langle A, A \rangle}$.

Also, the Cauchy-Schwarz inequality is established $|\langle A, B \rangle| \leq ||A||_{1} ||B||_{1}$.

Theorem 2.4. Suppose that $Q = (Q_i)_{i=1}^{\infty}$ is a sequence of positive semidefinite matrices and $C = \sum_{i=1}^{\infty} Q_i$ then $l_2(Q) = l^2(C)$. Also, $l_2(Q)^* = l^2((\tilde{C})^{-1})$ where $(\tilde{C})^{-1} = diag(C \rfloor_i)_{i=1}^{\infty}$.

Proof . We have

$$\|x\|_{C}^{2} = x^{t}Cx = \sum_{i=1}^{\infty} x^{t}Q_{i}x = \sum_{i=1}^{\infty} \|x\|_{Q_{i}}^{2}$$

which implies that $||x||_C = ||x||_{2,Q}$ and so $l_2(Q) = l^2(C) = l^2(w)$ with $w = (C \rfloor_i)_{i=1}^{\infty}$. Now we have $l_2^*(Q) = (l^2(w))^* = l^2(v) = l^2((\tilde{C})^{-1})$ where $v = (\frac{1}{C \rfloor_i})_{i=1}^{\infty}$. Note that , if p, q are conjugate then, $l_p^*(w) = l^q(v)$ with $v_i = w_i^{-\frac{q}{p}}$. \Box

Theorem 2.5. Suppose that $Q = (Q_i)_{i=1}^{\infty}$ is a sequence of positive semidefinite matrices. Then

$$||x||_{p,Q} \le \left(\sum_{i=1}^{\infty} ||Q_i||_{\mathsf{J}}^{\frac{p}{2}}\right)^{\frac{1}{p}} ||x||_4$$

Therefore,

$$\sum_{i=1}^{\infty} \|x\|_{2,w_i}^p \le \left(\sum_{i=1}^{\infty} \|Q_i\|_{j}^{\frac{p}{2}} \|x\|_{4}^{p},$$
(2.2)

where, $w_i = (Q_i \rfloor_j)_{j=1}^{\infty}$.

Proof. For a sequence $x = (x_n)_{n=1}^{\infty}$ we put $X = diag(|x_i|^2)_{i=1}^{\infty}$. Now we have

$$\|x\|_{p,Q} = \left(\sum_{i=1}^{\infty} \left(\sum_{j=1}^{\infty} Q_i \rfloor_j |x_j|^2\right)^{\frac{p}{2}}\right)^{\frac{1}{p}}$$
$$= \left(\sum_{i=1}^{\infty} \left(\langle Q_i, X \rangle \right)^{\frac{p}{2}}\right)^{\frac{1}{p}}$$
$$\leq \left(\sum_{i=1}^{\infty} \left(\|Q_i\|_{\mathbb{J}} \|X\|_{\mathbb{J}}\right)^{\frac{p}{2}}\right)^{\frac{1}{p}}$$
$$= \left(\sum_{i=1}^{\infty} \|Q_i\|_{\mathbb{J}}^{\frac{p}{2}}\right)^{\frac{1}{p}} \|X\|_{\mathbb{J}}^{\frac{1}{2}}$$
$$= \left(\sum_{i=1}^{\infty} \|Q_i\|_{\mathbb{J}}^{\frac{p}{2}}\right)^{\frac{1}{p}} \|x\|_4.$$

By taking $Q_i |_j = \frac{1}{i}$ for $j \leq i$ and zero otherwise and $x_j = \sqrt{a_j}$ in (2.2) we have

$$\sum_{i=1}^{\infty} \left(\frac{\sum_{j=1}^{i} a_j}{j}\right)^p \le \sum_{i=1}^{\infty} \frac{1}{i^{\frac{p}{2}}} \|a\|_2^p = \zeta(\frac{p}{2}) \|a\|_2^p.$$
(2.3)

Hence, we prove that

$$\|Ca\|_{p} \le \zeta^{\frac{1}{p}}(\frac{p}{2})\|a\|_{2}.$$
(2.4)

Bennett in [3] (Theorem 4) for every decreasing non-negative sequence $a \in l^p$ prove that

 $||Ca||_p \ge \zeta^{\frac{1}{p}}(p)||a||_p.$

The Copson matrix B is an upper triangular matrix which is defined by $b_{i,j} = \frac{1}{j}$ for $1 \le i \le j$ and zero otherwise. In fact $B = C^t$, transpose of the Cesaro matrix which is defined by $c_{i,j} = \frac{1}{i}$ for $j \le i$ and zero otherwise. Copson in [4] proved that

$$\left(\sum_{n=1}^{\infty} \left(\sum_{k=n}^{\infty} \frac{|x_k|}{k}\right)^p\right)^{\frac{1}{p}} \le p\left(\sum_{n=1}^{\infty} |x_n|^p\right)^{\frac{1}{p}}.$$
(2.5)

By taking $Q_i |_j = \frac{1}{i}$ for $1 \le i \le j$ and zero otherwise and $x_j = \sqrt{a_j}$ in (2.2) we have

$$\sum_{i=1}^{\infty} \left(\sum_{j=i}^{\infty} \frac{a_j}{j}\right)^p \le \sum_{i=1}^{\infty} \left(\sum_{j=i}^{\infty} \frac{1}{j^2}\right)^{\frac{p}{2}} \|a\|_2^p.$$
(2.6)

Applying (2.5) we have

$$\sum_{i=1}^{\infty} \left(\sum_{j=i}^{\infty} \frac{1}{j^2}\right)^{\frac{p}{2}} = \sum_{i=1}^{\infty} \left(\sum_{j=i}^{\infty} \frac{1}{j}\right)^{\frac{p}{2}} \le \left(\frac{p}{2}\right)^{\frac{p}{2}} \zeta(\frac{p}{2}).$$

Therefore, we have

$$\sum_{j=1}^{\infty} \Big(\sum_{j=i}^{\infty} \frac{a_j}{j}\Big)^p \le \Big(\frac{p}{2}\Big)^{\frac{p}{2}} \zeta(\frac{p}{2}) \|a\|_2^p.$$

As an another application of the above theorem, by taking $Q_i = diag(\frac{1}{(i+j-1)})_{j=1}^{\infty}$ and $x = (\sqrt{a_j})_{j=1}^{\infty}$ we have

$$\sum_{i=1}^{\infty} \left(\sum_{j=1}^{\infty} \frac{a_j}{i+j-1}\right)^{\frac{p}{2}} \leq \sum_{i=1}^{\infty} \left(\sum_{j=1}^{\infty} \left(\frac{1}{i+j-1}\right)^2\right)^{\frac{p}{2}} \|a\|_2^p$$
$$= \sum_{i=1}^{\infty} \left(\sum_{j=i}^{\infty} \left(\frac{1}{j}\right)^2\right)^{\frac{p}{2}} \|a\|_2^p$$
$$\leq \left(\frac{p}{2}\right)^{\frac{p}{2}} \zeta(\frac{p}{2}) \|a\|_2^p.$$

Suppose that $Q = (Q_i)$ is a sequence of positive semidefinite matrices. Denote by $\delta_p(Q)$ the set of decreasing non-negative sequences in $l_p(Q)$ and define

$$\Delta_{p,Q}(T) = \sup\{\|Tx\|_{p,Q} : x \in \delta_p(Q) : \|x\|_{p,Q} = 1\},\$$

where, $T = [t_{i,j}]$ is a linear operator on $l_p(Q)$. We assume that $t_{i,j} \ge 0$ for all i, j which implies that the norm is determined by the action of T on non-negative sequences. At the following we prove the analogous form of Lemma 1.1 for $l_p(Q)$. In fact, the following theorem establishes conditions insuring that $||T||_{l_p(Q)}$ is determined by decreasing, non-negative sequences.

Theorem 2.6. Suppose that $T = [t_{i,j}], t_{i,j} \ge 0$ maps $\delta_p(Q)$ into $l_p(Q)$. Write $c_{m,j} = \sum_{i=1}^m t_{i,j}$. Suppose further that:

(i) $\lim_{j\to\infty} t_{i,j} = 0$ for each *i*, and either

(ii) $a_{i,j}$ decreases with j for each i, or

(iii) $a_{i,j}$ decreases with *i* for each *j* and $c_{m,j}$ decreases with *j* for each *m* also, $Q_i \rfloor_j$ decreases with *j* for each *i*. Then, $||T(x^*)||_{p,Q} \ge ||T(x)||_{p,Q}$ for non-negative elements *x* of $l_p(Q)$. Hence, $||T||_{l_pQ} = \Delta_{p,Q}(T)$. **Proof**. Let z = Tx and $z' = Tx^*$. Write $X_j = x_1 + \cdots + x_j$. By Abel summation and condition (ii), we have

$$z_{i} = \sum_{j=1}^{\infty} t_{i,j} x_{j} = \sum_{j=1}^{\infty} (t_{i,j} - t_{i,j+1}) X_{j},$$
$$z_{i}' = \sum_{j=1}^{\infty} t_{i,j} x_{j}^{*} = \sum_{j=1}^{\infty} (t_{i,j} - t_{i,j+1}) X_{j}^{*}.$$

Since $X_j \leq X_j^*$ for all j, we have $z_i \leq z_i'$ for all i. Now, we have

$$\|z\|_{p,Q}^{p} = \sum_{i=1}^{\infty} \left(\sum_{j=1}^{\infty} Q_{i} \rfloor_{j} |z_{j}|^{2}\right)^{\frac{p}{2}}$$
$$\leq \sum_{i=1}^{\infty} \left(\sum_{j=1}^{\infty} Q_{i} \rfloor_{j} |z_{j}'|^{2}\right)^{\frac{p}{2}} = \|z'\|_{p,Q}^{p},$$

which implies that $||z||_{p,Q} \leq ||z'||_{p,Q}$. Now, assume (iii). Then z_i and z'_i decrease with i, and

$$Z_m = \sum_{i=1}^m \sum_{j=1}^\infty t_{i,j} x_j = \sum_{j=1}^\infty c_{m,j} x_j = \sum_{j=1}^\infty (c_{m,j} - c_{m,j+1}) X_j,$$
$$Z'_m = \sum_{i=1}^m \sum_{j=1}^\infty t_{i,j} x_j^* = \sum_{j=1}^\infty c_{m,j} x_j^* = \sum_{j=1}^\infty (c_{m,j} - c_{m,j+1}) X_j^*.$$

Hence, $Z_m \leq Z'_m$ for all m. By the majorization principle [1],

$$\sum_{k=1}^m z_k^2 \le \sum_{k=1}^m z_k'^2$$

Also, since $Q_i \rfloor_j$ decreases with j for each i, by the Abel summutation we have

$$\sum_{j=1}^{\infty} Q_i \rfloor_j |z_j|^2 = \sum_{j=1}^{\infty} \left(Q_i \rfloor_j - Q_i \rfloor_{j+1} \right) \sum_{k=1}^j |z_k|^2$$
$$\leq \sum_{j=1}^{\infty} \left(Q_i \rfloor_j - Q_i \rfloor_{j+1} \right) \sum_{k=1}^j |z'_k|^2$$
$$= \sum_{j=1}^{\infty} Q_i \rfloor_j |z'_j|^2$$

and hence $||z||_{p,Q} \leq ||z'||_{p,Q}$. \Box

By taking $Q_1 = I$ the identity matrix and $Q_i = diag(\frac{1}{i+j})_{j=1}^{\infty}$, $i \ge 2$ and T = C the cesaro operator, all conditions of the above theorem are established. Now we have

$$||x||_{p,Q}^{p} = \sum_{i=1}^{\infty} \left(\sum_{j=1}^{\infty} Q_{i} \rfloor_{j} |x_{j}|^{2}\right)^{\frac{p}{2}}$$
$$= \sum_{i=1}^{\infty} \left(\sum_{j=1}^{\infty} \frac{|x_{j}|^{2}}{i+j}\right)^{\frac{p}{2}}.$$

Now, by the Hilbert's Inequality which asserts that

$$\sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{a_m}{m+n}\right)^p < \left(\frac{\pi}{\sin(\frac{\pi}{p})}\right)^p \sum_{n=1}^{\infty} a_n^p, \quad (p>1)$$

for p > 2 we have

$$||x||_{p,Q} < \left(\frac{\pi}{\sin(\frac{2\pi}{p})}\right)^{\frac{1}{2}} ||x||_p$$

Also,

$$\begin{split} \|Cx\|_{p,Q}^p &= \sum_{i=1}^{\infty} \left(\sum_{j=1}^{\infty} \frac{X_j^2}{j^2(i+j)} \right)^{\frac{p}{2}} \\ &< \left(\frac{\pi}{\sin(\frac{2\pi}{p})} \right)^{\frac{p}{2}} \sum_{j=1}^{\infty} \left(\frac{X_j}{j} \right)^p. \end{split}$$

Applying the Hardy's inequality which asserts

$$\sum_{n=1}^{\infty} \left(\frac{1}{n} \sum_{m=1}^{n} a_m\right)^p \le \left(\frac{p}{p-1}\right)^p \sum_{n=1}^{\infty} a_n^p, \quad (p>1)$$

we have

$$\|Cx\|_{p,Q}^{p} < \left(\frac{\pi}{\sin(\frac{2\pi}{p})}\right)^{\frac{p}{2}} \sum_{j=1}^{\infty} \left(\frac{X_{j}}{j}\right)^{p} \\ \leq \left(\frac{\pi}{\sin(\frac{2\pi}{p})}\right)^{\frac{p}{2}} \left(\frac{p}{p-1}\right)^{p} \|x\|_{p}^{p}.$$

 $\operatorname{So},$

$$||Cx||_{p,Q} < \left(\frac{\pi}{\sin(\frac{2\pi}{p})}\right)^{\frac{1}{2}} \left(\frac{p}{p-1}\right) ||x||_{p}.$$

By taking $Q_i = diag(\frac{1}{i+j-1})_{j=1}^{\infty}$, by the same manner one may obtain

$$||Cx||_{p,Q} < \left(\frac{\pi}{\sin(\frac{2\pi}{p})}\right)^{\frac{1}{2}} \left(\frac{p}{p-1}\right) ||x||_{p}.$$

On the other hand by applying Propositin 1 of [3] for $p\geq 1$ we have

$$\begin{split} \|Cx\|_{p,Q}^{p} &= \sum_{i=1}^{\infty} \Big(\sum_{j=1}^{\infty} \frac{X_{j}^{2}}{j^{2}(i+j-1)}\Big)^{\frac{p}{2}} \\ &\geq \sum_{i=1}^{\infty} \sum_{r=1}^{\infty} \Big(\sum_{j=1}^{r} \frac{X_{j}^{2}}{j^{2}}\Big)^{\frac{p}{2}} \Big[(i+r-1)^{-\frac{p}{2}} - (i+r)^{-\frac{p}{2}}\Big] \\ &= \sum_{r=1}^{\infty} \Big(\sum_{j=1}^{r} \Big(\frac{X_{j}}{j}\Big)^{\frac{p}{2}} \sum_{i=1}^{\infty} (i+r-1)^{-\frac{p}{2}} - (i+r)^{-\frac{p}{2}}\Big) \\ &= \sum_{r=1}^{\infty} \Big(\frac{\sum_{j=1}^{r} (\frac{X_{j}}{j})^{2}}{r}\Big)^{\frac{p}{2}} \\ &= \|C^{2}x\|_{\frac{p}{2}}^{\frac{p}{2}}. \end{split}$$

So for p > 2 we have

$$\|C^2 x\|_{\frac{p}{2}}^{\frac{1}{2}} \le \|C x\|_{p,Q} < \left(\frac{\pi}{\sin(\frac{2\pi}{p})}\right)^{\frac{1}{2}} \left(\frac{p}{p-1}\right) \|x\|_{p,Q}$$

specially, by choosing $x = (1, 0, 0, \cdots)$, we have

$$\sum_{i=1}^{\infty} \left(\frac{1+\frac{1}{2}+\dots+\frac{1}{i}}{i}\right)^{\frac{p}{2}} \le \sum_{i=1}^{\infty} \left(\sum_{j=1}^{\infty} \frac{1}{j^2(i+j-1)}\right)^{\frac{p}{2}} < \left(\frac{\pi}{\sin(\frac{2\pi}{p})}\right)^{\frac{1}{2p}} \left(\frac{p}{p-1}\right)^{\frac{1}{p}}.$$

References

- [1] E.F. Beckenbach and R. Bellman, Inequalities, Springer, Berlin, 1961.
- [2] G. Bennett, Factorizing the classical inequalities, Mem. Amer. Math. Soc. 576 (1996).
- [3] G. Bennett, Lower bounds for matrices, Linear Algebra Appl. 82 (1986), 81–98.
- [4] F.T. Copson, Note on series of positive terms, J. Lond. Soc. 1 (1928), no. 1, 49-51.
- [5] G.J.O. Jameson and R. Lashkaripour, Norms of certain operators on weighted l_p spaces and Lorentz sequence spaces, J. Inequal. Pure Appl. Math. **3** (2002), no. 1, Article 6.
- [6] G.J.O. Jameson, Norms and lower bounds of operators on the Lorentz sequence spaces d(w, 1), Illinois J. Math. **43** (1999), 79–99.
- [7] R. Lyons, A lower bound for the Ceasaro operator, Proc. Amer. Math. Soc. 86 (1982), 694.
- [8] P.C. Mahalanobis, On the generalised distance in statistics, Proc. Nat. Inst. Sci. India 2 (1936), no. 1, 49–55.